DRZAVNO NATJECANJE IZ LOGIKE 2020.

B KATEGORIJA
RJESENJA

Zadatak 1.

Formula

Situacija (1)

Situacija (2)

Vavb(Xab — Yab)

VaVb(XabV Yba)

YavbVe((Xab A Xbe) — 3dY de)

VYa(Pa VvV Vb(a =bV Yab))

Ja(Pa — VbPb)

VaPa — Ja3bIe(Xab A Xbe A - Xac)

Va(—Pa — 3b(a # b A ~Pb))

dedfva((—wPa AVb(a # b — (XbaVYba))) = (a=eVa=f))
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N
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JeVa(—Pe A (Pa — 3b3c3d(Pb A Pc A PdA
aFtbNatcNha#EdANb#cAb#EdANcH#d)))

Z

?

Ukupno 54 boda.




Zadatak 2.

1. Jx(Fz AVy(Gy — Hy))v
2.Va(Fz — (-Lz — -3y(Ky A Hy)))
3. =(Fx(Kx A Gz) = JzLx)v
4. Jx(Kz A Gx)v
5. -3zLx (3)

6. Ka A Gav
7. Ka
8. Ga
9. Fb AVy(Gy — Hy) v (1)

10. F'b
11. Vy(Gy — Hy)

12. Fb — (—Lb — —3y(Ky A Hy))v (2)

13. =Fb -Lb — —3y(Ky A Hy)v
RS :
14. ==Lbv —Jy(Ky A Hy)
15. =Lb ~Lb (5)
16. Lb (14) :

X

17. =(Ka N Ha)v

18. - Ka -Ha
X .

19. Ga — Hav' (11)

/\
20. - Ga Ha
X x

Zakljucak je valjan.

Ukupno 50 bodova.



Zadatak 3.

1 A— (B—C) pretp.

2 -A— (=B — =C) pretp.

3 T A+ B pretp.

4 T A pretp.

5 3 i, 3,4

6 B—=C —i, 1,4

7 C —1, 6,5

8 C pretp.

9 T —-A pretp.
10 | B pretp.
11 A i, 3, 10
12 1 1w, 11,9
13 -B —u, 10-12
14 -B — -C —i, 2,9
15 -C —1i, 14, 13
16 1 1w, 8, 15
17 ——A —u, 9-16
18 A —i, 17
19 A C ©u, 4-7, 8-18
20 (A<+B)—= (A+C) —u, 3-19

Ukupno (najvise) 34 boda.



